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IV Semester B.Com. Examination, May/June - 2019
COMMERCE
4.4 Cost Accounting -
(CBCS) (Fresh+Repeaters) (2015-16 & Onwards)

Time : 3 Hours Max. Marks : 70
Instructions to Candidates :

Answer should be written completely either in English or in Kannada.

eggor} - o [/ SECTION - A
1. obegwedde aud sus-BBivr! udds. B8 VOIRE YFDE 2 WOoTTIE. 5x2=10
(a) B woBrEh oo ?
(b) @BBeed Toebf) HowTerD ?
(c) =heededsdad, D99
(d) moe} oleeardode Beeadah, Berl FoBSBOINHO ?
(e) &8 c‘gd Jededoriderd 2
(f) Rewo eeadrith 0oBEBerD 7 odea)weREde 20T YLTIVHTES ed.
(g) Beoweedd Begoday, BodedadE sugledrigad, Sud.
Answer any five sub-questions. Each question carries two marks.
(a) What are the elements of Cost ?
(b) What are Indirect materials ?
(¢) Define Overhead.
(d) How do you calculate wages under Halsey plan ?
(e) What is semi-fixed cost ?
() What are service departments ? Give an example.
(g) State the purpose of preparing a Reconciliation Statement.

&ger] - & / SECTION - B
odrea)wende @Swed BBur! ev300. Hé FO0LE YwITY 6 WoTIE. 3x6=18
Answer any three questions. Each question carries six marks.

2. e Szoe’gd dued sugledrivdi), Fogmmen DTOD.
Briefly explain the three objectives of cost accounting.
P.T.O. /
' /
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3.

(ANARTEARARRIR

ge 31806 Thos8a00D, 2Bod wded MY Torke wowh Tardy BBHRT

esied Joadiriwgaly, FOBHRONO.

(a) Bzeds T VYT Fedoeo

{b) 2,00 esE3eBT, eeren Jriews =gy
(c) 20t oduweder 33

(d) Sodmree IR Bede 38

4000 cdweerrisd
T 100
T 80

oW Be. 8% Ta&)

From the following information, calculate Economic Order Quantity and
calculate number of orders to be placed in a year.

(a) Quarterly consumption of materials
(b) Cost of placing one order
(¢} Cost per unit

(d) Storage and carrying cost

39800 alrs80008, e By, 303700

4000 units
T 100
T 80

8% of inventory

guBTve g3 ¥ 5,00,000

&Cg BT TYB0T WoRRD (FS 0duederri T 25 Bo3) 2500 odseerrisd
3 BROT WO WoR™ 5000 odsedertriLy
2000063 &3gd — evewwer B odweder® e X 5 do3

e708] ~ w7000’ eed Be. 20% BoI3

7500 oduederfrieh erevetswans.

From the following information, prepare a cost sheet.

Cost of production ¥ 5,00,000
Opening stock of finished goods (@ ¥ 25 per unit) 2500 units
Closing stock of finished goods 5000 units

Selling expenses @ I 5 per unit sold
Profit @ 20% on sales

7500 units were sold.
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5.

FIFO edtgéuijﬁmbg e FYB0B BI0&H3000E WD 30700,
2axd 2019, 1-500 oilfar"owﬁ‘riéaba B8 odedesri X 20 Jo3 geamd
2a=0 2019, 10-300 Oilja&')w""ﬁﬁ’a‘b(i E:.jé operi T 24 do3 %ea’@&:tﬂ

@a0 2019, 15-700 ohedesgsb, demernnss

2388 2019, 20-400 a3 HFRY, B& oduedesrri X 28 Jo3d JesdIT

2530 2019, 25-300 e, QereIeNd
=0 2019, 28-500 cdupRLSHYR), & 0deRLeT T 22 303 §eddYss

2330 2019, 31-200 aduederriga, QerdernHrs

From the following information, prepare Stores Ledger Account under FIFO
Method.

Jan 2019, 1 Received 500 units @ ¥ 20 per unit/
Jan 2019, 10 Received 300 units @ X 24 per unjt-
Jan 2019, 15 Issued 700 units <«

Jan 2019, 20 Received 400 units @ % 28 per unit
Jan 2019, 25 Issued 300 ur:its

Jan 2019, 28 Received 500 units @ I 22 per unit

Jan 2019, 31 Issued 200 uni/ts

2,00 evtdrgert?d @8 roedri ¥ 100 dos, 30 Hoedry 33 Jebodaiay, S glat b dSpletVic ol
wg B0 6 Nodry dabobaErh, dueen vwydy, Hog P dreemn® odreadiod

BEo0 a3 Beerodad), BoBHBOND. s
Standard time allowed for a job is %% hours at the rate of ¥ 100 per hour.
Actual time saved by a worker is 6 hr;urs. Calculate his earning under Halsey
system and Rowan system.

P.T.O.
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oepori - & / SECTION - C
odnR@werde wed FB,vr Lo, B8 VO KI3E 14 wosriLh. 3x14=42

Answer any three question, each correct answer carries fourteen marks.

BE0 20190y Togusodeowdy e FYNT03 Toabrivay, wbed Horie b
veplelaplpin

ez, g i~ lo]
04-02-2019 800 cdwederrisd 24 B8 0t
10-02-2019 600 chwederrsy T 23 8 aduedesr
18-02-2019 400 odeertrisd % 24 58 oduelerri
22-10-2019 400 odseertrisd % 23.50 @@ odederr]
QedT mg
05-02-2019 1000 oduvederrish
12-02-2019 800 cdwelerErish
25-02-2019 1000 cdweerrigd

&908 01-02-2019 Botb wemard - T 25 H& 0de 303 800 chedertus. FIFO
) LIFO sg8obey R0 aesodaty, 30d090.

The following transactions occurred in purchases and issue of materials in
an organisation during February 2019.

Receipts Quantity Rate
\ 04-02-2019 800 units % 24 per unit
10-02-2019 600 units % 23 per unit —
{1_8—02—2019 400 units - I 24 per unit
L22-10-2019 400 units % 23.50 per unit
Issues Quantity

405-02-2019 1000 Tl

‘"'\12-02-20.19 800 units

25-02-2019 1000 units

The stock on 01-02-2019 was 800 units @ ¥ 25 per unit. Prepare the stores
ledger account under FIFO and LIFO method.
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8.

Be FHBOB DITrIEL 00T 0F° ) B0 :

obozga dﬁa@?s ‘ % 10,00,000
DT 10 Jx@erisd

- 000} &) Tg@d wede X 3,00,000
edpddwmadh %) % 1,00,000
DoAE T Foodee B 2750 rjoedrisd

R oo eomemy 200 Hoelrieh (evspame Mababaod @drides)

00ZR dRye® 8E 20 0deRerritd B rodr, T 20 B8 adieesr

o0’ HR) 938 wvTadedwd) X 4,000 & doriur]

eo®ri T 8,000 B8 Soriur’ (0wdg 1/4 B 0h0ZE To0HIT)

eeegesetsd Joad X 10,000 F& Soriurd (@ 1/5 Jbod Be aboZgg QvexeraNd)
e 0H03RE BT YeIowo aiseegagﬁ"éo B8 doreri T 15,000

obhoZa 0z5ed ) deleBroe g3 ~ Wodes I 45,000

Bend fg3 woae® T 30,000 (2ey 20 Bemristh sbwriodbed), 9@y S5 demrith e
aboZE To00HRT)

0bog roel BoSy, BoTHBONO. ‘

The following details are related to Machine X

Cost of the machine Z 10,00,000
Estimated Life 10 years
Transportation and installation charges ¥ 3,00,000
Scrap value < 1,00,000
Yearly working hours 2750 hours

Setting up time is estimated at 200 hours which is regarded as productive
time

Motive power 20 units per hour @ I 20 per unit

0Oil and other consumables I 4000 p.m.

Rent ¥ 8,000 p.m. of which 1/4 is allocated to this machine.

Supervisor salary ¥ 10,000 p.m. (1/5" of his time is devoted to this machine)
Other departmental overheads allocated to this machine ¥ 15,000 p.m.
Repairs and maintenance cost of the machine ¥ 45,000 p.a.

Lighting T 30,000 p.a. (there are 20 light points in the shop of which 5 light
points are related to this machine.)

Calculate Machin_e Hour Rate.

P.T.O.
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9.

20000 ﬁama‘sé’abgg Zoedh emmwdﬁ [eI3IE HTore DO Jeeyo gerpalrivas. abeegag
QBT 00T Be BEFOBOITS :

ool )
A 3,00,000
B 3,50,000
& 2,00,000
X 80,000
¥ 60,000
X %Y Bewo goesdad wedenva, Besmomots smedd wheed de F980B0S B0e0.
UTIE T Hereadrivh Jewvo Pereadrivh
39
A B C X Y
= il SRR 30% | 20% | 30% . 20%
X \
Y 40% | 30% | 20% | 10% 2

88eocd @etfed DITewe Begodb, Be FYFoR Aeivey 30ded .
(09) D P0esF BB
() OTTT BREFTeo 8PS

A factory has three production departments and two service departments.
The overhead distribution summary shows the following :

Departments Amount (3)
A 3,00,000
B 3,50,000
C : 2,00,000
X 80,000
¥ 60,000

The service departmental expenses of X and Y are to be distributed on a
percentage basis as follows :

Production departments Sereice
Particulars departments
A B C X Y
SERVICE
DEPARTMENTS 30% 20% 30% - 20%
X
4 40% 30% 20% 10% -

Prepare a Secondary Overhead Distribution statement under :
(a) Repeated Distribution Method
. (b) Simultaneous Equation Method
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10.

2,06 om0 20188 BFe0od Te FHFOWOST.

1-1-201830td Feebf)rish womgrb % 70,000
31-12-2018380th @eeh)riY wogad % 10,000
00eBIW Tz < 1,00,000
FOTOE & BUIOEI ¥ 2,00,000
FTOATOE A LNETIED ¥ 36,000
SBYI DLETIE < 44,000
1-1-20188g g} SR ©900838 WYL -
31-12-20180¢ &glda’gcﬁaﬁ 0BT TIOTYL % 40,000
w0003 : ¥ 5,00,000

20183633 euzgEs 4000 0deerrish

20199¢3 1000 odaederrigd, Bued;Hen 2,00 2FPOWIR, FOB éﬁtﬁo&rao&ci% eJe3
JrdBOTeIesrs. 2019 gy TeAIY &3e3 Be. 15% e HOFaRMILE), Toaees oL
Be. 10% Jay HdOFadreriessd. 2018 3 33 Begod, Sadedd Horie 5003 BREBY
AuR Besd oogl Be Ve Begadue HvrbPBowh 0wvesd, H& CEEXT QD BBTeIeFord
eJeJodor, FomdBoden 2019 8 eJorgo® @egadbry, Sodeds. 2018 do3ode sheefes
2306 TIEd BS 03eerr Buothadadnd)Bond Wotwesd.

The following data is furnished by a company for the year 2018.

Stock of materials on 1-1-2018 <X 70,000
Stock of materials on 31-12-2018 ¥ 10,000
Purchase of materials R % 1,00,000
Factory wages . ¥ 2,00,000
Factory Expenses ) < 36,000
Administrative Expenses % 44,000
Opening stock of finished goods on 1-1-2018 nil
Closing stock of finished goods on 31-12-2018 ~ ¥ 40,000
Sales < 5,00,000

Production during 2018 was 4000 units.

The company wants to quote for a contract for the supply of 1000 units
during the year 2019. During 2019, the cost of materials increased by 15%
and that of factory wages by 10%. Prepare a statement of cost for the year
2018 and a tender statement for 2019 showing the price to be quoted per
unit, if the same percentage of profit is maintained as in the previous year.
Assume the overhead charges per unit will be the same as in 2018.

P.T lo'
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11. e F¥Ford HTF3rdvword 2,003 BRowedH aﬂgoﬁom &Jgﬁﬁm :

2

oI X
&3 woanedriY FEesd IPY IF T 3,44,800
Foade e ehegdesrivh &ef SgmZrivey sBD DReeTNT3 . ¥ 6,240
Je SymIrivy BesghH BB VITY ¥ 2,600
33 SyoZYrive BesH FduedItHsm sBys shegdegrisd ¥ 2,600
BRBBEOD Heesd L7 3 17,500
BEOTOAD eﬁﬁﬁg’dg éﬁc:ba@ﬁew)ag BN ] T 11,400
DoBS O eswoad 3003 % 80,600
BeoTO TBIEEI DoTIRD BROWEDE (FBEFP) 3 950
DEOTORD d‘agﬁgtﬁg ARRDE Do e’ VITY ¥ 13,500
djaca&; ai)eegegﬁi-b aﬁ'egeﬁﬁﬁwgtﬁg éesgﬁ S ¥ 8,250
a’:‘egeﬂ‘ﬁjaﬂgdg AT Toed00sB eIl T 40,000
Seilragny wodah momelds @ity % 20,750
BT JTHIBY ©0odeD WoedN @Iy 3 18,750 l
Brozosh STBIBe DRIDE Toon sheess 2 | % 11,000 \ i
Prepare a Reconciliation statement from the following data. i;- |
Net Loss as per cost accounts ¥ 3,44,800 k t'
Works overhead under recovered in cost accounts 36,240 il
Depreciation overcharged in cost accounts T 2,600 |
Administration overheads recorded in excess in cost accounts < 2,600 l-
Interest on Investments X '17,500
Goodwill written off in financial books ' ¥ 11,400
Income Tax paid < 80,600 ,
Stores adjustment (credit) in financial books < 950 ;;
Depreciation of stock charged in financial books T 13,500 I;:
Selling overheads over recovered in cost accounts < 8,250 Ii:;
Notional rent charged in cost accounts < 40,000 ,
Value of Closing stock in cost accounts % 20,750 |
Valué of Closing stock in financial accounts 3 18,750
Interest on loan charged in financial accounts ¥ 11,000

-00o0-

T



